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(= AV TR < |V A 240,489,000 240,489,000 1,208,000 241,697,000
i 5% O B & I &% 69,531,000 69,531,000 69,531,000
2 ® = v HESINEIK 5,555,000 5,555,000 5,555,000
T+ # ke II¥ A 2,932,000 2,932,000 2,932,000
B R K F M H E IR 105,580,000 105,580,000 370,000 105,950,000
(=R A VI S S N | A 73,775,000 73,775,000 370,000 74,145,000
e = RO OB & I 2% 27,200,000 27,200,000 27,200,000
2 R = v HE M 2,922,000 2,922,000 2,922,000
F £ *t 1% A 1,683,000 1,683,000 1,683,000
K& fE FH ¥ N K% 29,018,000 29,018,000 99,000 29,117,000
(=i A VI ST | A 19,777,000 19,777,000 99,000 19,876,000
e & A OB & I 2% 7,200,000 7,200,000 7,200,000
2 ® = v HE SR 1,306,000 1,306,000 1,306,000
+ P54 et 1% A 735,000 735,000 735,000
5 o8 ¥ OF ¥ I & 18,174,000 18,174,000 82,000 18,256,000
(= AV ST < |V 16,362,000 16,362,000 82,000 16,444,000
i 5% O B & I & 1,150,000 1,150,000 1,150,000
2 ® = v HE SN 562,000 562,000 562,000
T+ # ke II¥ A 100,000 100,000 100,000
ME 1% A 220,000 220,000 10,000 230,000
HE 1% A 220,000 220,000 220,000
Ped g SRE Pl IR VEAY 100,000 100,000 100,000
[ S NS | A 100,000 100,000 100,000
®oE fE ME I S 10,000 10,000 10,000
5o B M I 2% 10,000 10,000 10,000
ES A M 1% A 10,000 10,000
S O O A 1,491,000 471,899,000 473,390,000 3,460,000 476,850,000
@ % %M
A F = IR BB R IR 1,491,000 1,491,000 1,491,000
2R = R BB ARk S S 1,491,000 1,491,000 1,491,000
H B 4 1,000,000 1,000,000 1,000,000




At B L —
=8 H Z A — VHREL | 2 A — v R N EAEE | Hel | & F
Pricma | n g o LEES
s = #H il 96,000 96,000 96,000
A 2 120,000 120,000 120,000
i 8 F = 34,000 34,000 34,000
H il & s # 40,000 40,000 40,000
PIESIN 1 A < S Y N < G = | 1,000 1,000 1,000
H #E it & 59,000 59,000 59,000
%= iR & 136,000 136,000 136,000
+ b =t 5,000 5,000 5,000
O A o EEH 471,935,000 471,935,000 471,935,000
BEHRAGEYAREHHEER 318,763,000 318,763,000 318,763,000
% = #H il 2,197,000 2,197,000 2,197,000
%" e 60,991,000 60,991,000 60,991,000
ik = T e 5,734,000 5,734,000 5,734,000
i fH JE = % 2,527,000 2,527,000 2,527,000
PIE A < B I - SR | 357,000 357,000 357,000
H il = s # 11,772,000 11,772,000 11,772,000
Jik # B PLE # 633,000 633,000 633,000
JH B puit i # 1,132,000 1,132,000 1,132,000
7 fih I BAll # 36,000 36,000 36,000
8 *E AT # 11,451,000 11,451,000 11,451,000
& i & 11,520,000 11,520,000 11,520,000
] Jin] & VN =4 734,000 734,000 734,000
74 =t # 5,452,000 5,452,000 5,452,000
7K P} ot £ # 50,946,000 50,946,000 50,946,000
- B e 33,295,000 33,295,000 33,295,000
7K 18 =t 17,280,000 17,280,000 17,280,000
o Z *H 371,000 371,000 371,000
= 1t e 3,102,000 3,102,000 3,102,000
£ 5 p 2,459,000 2,459,000 2,459,000
B4 Hf 4 2,741,000 2,741,000 2,741,000
2 bz} AN E 6,400,000 6,400,000 6,400,000
53 E7 = EiE! % 128,000 128,000 128,000
% E 7 124,568,000 124,568,000 124,568,000
T # ke 2,568,000 2,568,000 2,568,000
Ji 7 ket # 11,315,000 11,315,000 11,315,000
B RASE fEE M HEFER 105,800,000 105,800,000 105,800,000
s 1= #H il 2,343,000 2,343,000 2,343,000
A p 34,163,000 34,163,000 34,163,000
i 8 F = 4,212,000 4,212,000 4,212,000
i i3 & & &S 1,527,000 1,527,000 1,527,000
& F) J& H # 6,892,000 6,892,000 6,892,000
fi # 23 JH # 462,000 462,000 462,000
i B s i # 980,000 980,000 980,000
8 #E AT # 7,666,000 7,666,000 7,666,000
& i & 2,600,000 2,600,000 2,600,000
] Jil & VN =4 756,000 756,000 756,000
74 ot # 6,413,000 6,413,000 6,413,000




At B L Py
H 2 A — PRHL | A A— v R ECT R T CI
Pricma | n g o %
PE] ot #h & 18,346,000 18,346,000 18,346,000
BT =t 12,709,000 12,709,000 12,709,000
PE *H 5,606,000 5,606,000 5,606,000
S ek 31,000 31,000 31,000
= 1t =t 1,118,000 1,118,000 1,118,000
R 55 *h 768,000 768,000 768,000
i Hf 4 2,103,000 2,103,000 2,103,000
ikl B N E 4,149,000 4,149,000 4,149,000
% E7N = izl 4 117,000 117,000 117,000
=S iR # 10,462,000 10,462,000 10,462,000
+ b =t 723,000 723,000 723,000
L& fE BH M H O¥E OB 29,108,000 29,108,000 29,108,000
ek 7,610,000 7,610,000 7,610,000
= F e 1,754,000 1,754,000 1,754,000
Al J& H # 1,500,000 1,500,000 1,500,000
=4 23 Pt} # 62,000 62,000 62,000
B JH ik # 316,000 316,000 316,000
#E it & 868,000 868,000 868,000
it # 540,000 540,000 540,000
Jinl] &l ZIN # 207,000 207,000 207,000
P} ot £ # 6,945,000 6,945,000 6,945,000
B e 4,965,000 4,965,000 4,965,000
PEl p 900,000 900,000 900,000
2 *H 1,080,000 1,080,000 1,080,000
1t e 610,000 610,000 610,000
5 p 190,000 190,000 190,000
Hf 4 870,000 870,000 870,000
bz} AN E 869,000 869,000 869,000
E7 = EiE) % 6,000 6,000 6,000
E # 6,392,000 6,392,000 6,392,000
# e 369,000 369,000 369,000
oE B OF OE B 18,264,000 18,264,000 18,264,000
e 7,625,000 7,625,000 7,625,000
= T e 1,501,000 1,501,000 1,501,000
F) J& H # 1,582,000 1,582,000 1,582,000
= puit i # 376,000 376,000 376,000
*E b # 886,000 886,000 886,000
fit # 200,000 200,000 200,000
Jin] & N & 216,000 216,000 216,000
Pl ot #h & 1,340,000 1,340,000 1,340,000
BT ot 1,227,000 1,227,000 1,227,000
PE *H 113,000 113,000 113,000
= 1t ke 551,000 551,000 551,000
£ 5 ot 96,000 96,000 96,000
B4 Hf 4 512,000 512,000 512,000
izl bz} AN E 857,000 857,000 857,000
= it # 2,046,000 2,046,000 2,046,000




At B L "
=8 H Z A — VHREL | 2 A — v R N EAEE | Hel | & F
Pricma | n g o LEES
T b5 e 476,000 476,000 476,000
X B i 1,491,000 471,935,000 473,426,000 0 473,426,000
H H # 0 3,424,000 3,424,000
&3 1= #H il 0 304,000 304,000
A p 0 179,000 179,000
i 8 F Y 0 52,000 52,000
B O OB O~ ' H 0 2,000 2,000
& F J& H # 0 59,000 59,000
& S # 0 5,000 5,000
Pt} 3 s i =4 0 50,000 50,000
HE fil 18 EAll # 0 1,442,000 1,442,000
H #E it # 0 400,000 400,000
] Jin] . VN =4 0 50,000 50,000
7K el i =8 # 0 778,000 778,000
& ] e 0 7,000 7,000
2 bz} AN B 0 10,000 10,000
53 E7 = sl % 0 74,000 74,000
HE # 0 10,000 10,000
T b5 ek 0 2,000 2,000
H b # it 3,424,000 3,424,000
Bow o8B m s 1,491,000 471,935,000 473,426,000 3,424,000 476,850,000
SR S S5 AR AT 24 A e ek 0] A 36,000 | A 36,000 36,000 0
N I
o W B AW 2% %
FE 2 5 10 AE % AT A0 15 25
S il 18 2% % A
Mo OB O® WO & 0] A 36,000 | A 36,000 36,000 0
2. RRHEIER O
(1) REEAIS
Y 0 0 0 0 0
(2) #EENER
oW B 0 0 0 0 0
SR R A MR 0 0 0 0 0
fh £ it b % %R 0 36,000 36,000 | A 36,000 0
5 — A I bR RE B O 4 0 0 0 0 0
— IR MR M OE B E KRS 0 1,000 1,000 13,126,000 13,127,000
— IR MR B OE B K RS 0 1,000 1,000 13,126,000 13,127,000
. 8 ERMERSROH
4 f5 i IE bR M ORE B IR A
808 IE Wk B OE B oE RS 53,050,000 53,050,000 106,100,000
fg & L WM E B R B S 53,050,000 53,050,000 106,100,000
M. JEBRMPELIR = 53,050,000 1,000 53,051,000 66,176,000 119,227,000






